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1 Lineum crystals are stored in boxes of 10.
How many boxes can be filled using

(a) 80 crystals (b) 250 crystals (c) 1500 crystals?
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LINEUM CRYSTALS

2 Find mentally, one tenth of

(a) (b) m (3] m (d) m (e) @
w— W Ww— W 1

3 Mike earns one credit for every 100 crystals mined.
How many credits did Mike earn in each of these months?

[ september |
107 600

_January | March | May | Jul
15 400

Crystals mined

4 Find mentally, one hundredth of

(@ <~ 6800 (b) 9000 ©¢ (d) 90300 > © 7350000

5 One thousand lineum crystals weigh one galactogram (gg).
What is the weight of

(a) 6000 crystals (b) 26 000 crystals () 705 000 crystals
(d) 290 000 crystals (e) 80000 crystals (f) 800 000 crystals?

6 Find mentally.
“(a) 5300+ 10 (b) 15000 + 1000 (c) 7600 + 100
(d) 41000+ 100 (e) 10100 +10 (f) 900000 + 100
(g) 600000+ 1000 (h) 300000+ 10 (i) 110000 + 1000

7 320 crates of crystals are divided equally
among 8 transporters. How many
crates are loaded onto each transporter?

8 Find mentally.
(@ 240+6 (b) 300+6 () 240+8 (d) 240+4 (e)
) 280+7 (g) 270+3 (h) 700+10 () 420+7 ()
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Triangles Numeracy Homework Spring Week 3   To be handed in on 24.01.11
